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	General

	

	Calculating Standard Urban Stormwater Mitigation Plan Flow Rates and Volumes Based on 0.75-inches of rainfall

	

	Data

	

	· From the Los Angeles County Department of Public Work Hydrology Manual

· Hydrologic Map: 1-H1-9 & 1-H1-19 (South Gate & Los Angeles Maps)

· Soil Classification Area: 006 (Hanford Fine Sandy Loam – HF-1)

· Rainfall Zone: “K”

· 50 Year Isohyet (Max. 24-hours Amount) = 7-inches

	

	Reference:

	

	1. Los Angeles County Department of Public Works Hydrology & Sedimentation Manual,December 1991 Edition

2. Standard Urban Storm Water Mitigation Plan for Los Angeles County and Cities in Los Angeles County

	

	Calculation:

	

	Data

· Total project area = 3.4 Acres

· Area Covered by Equipment = 0.89 Acres

· Area Covered by  Roadway = 0.43 Acres

· IMP = Proportion impervious = 0.39



	Proposed Project Characteristic

· A((((( = 3.4 Acres

· Type of Development = Industrial (Power Plant)

· Predominate Soil Type # = 6

· % of Project Impervious = 39%

· % of Project Pervious = 61%

· % of Project Contributing Undeveloped Area = 0%

· A( = 1.32 Acres

· A( = 2.08 Acres

· A( = 0 Acres
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	Calculation Steps:

	· Length of Property = 670 feet (Assume 335 feet is drained toward Soto Street and 335 feet is drained toward Seville Ave)

· Therefore Length = 335 feet

· Slope of Property = 1 % (Assume)

1. Assume an Initial T( value = 15 minutes

2. I( = 0.267 in/hr

3. C( = 0.1

4. C( = (0.9*IMP)+[(1.0-IMP)*C( = 0.412

5. C( * I( = 0.110

6. T( = 10-0.507*( C( * I()-0.519 * Length0.483 * Slope -0.135  = 30.21 minutes

7. Calculate the difference between the initial assume T( and the calculated T(.

	The following is table for Iteration

	

	Iteration No.
	Initial Tc (min)
	Ix (in/hr)
	Cu
	Cd
	Cd*Ix
	Calculated Tc (min)
	Difference (min)

	1
	15
	0.267
	0.1
	0.412
	0.110
	30.206864
	15.20686

	2
	30
	0.193
	0.1
	0.412
	0.080
	35.74874
	5.74874

	3
	36
	n/a
	
	
	
	
	

	Acceptable T(  Value = 30 minutes

	8. Calculated the peak of Mitigation Flow Rate

Q(( = C( * I( * A((((( = 0.193 * 3.4 = 0.66 cfs

C( = 0.412

I30 = 0.193 in/hr

A((((( = 3.4 Acres

Use I30  since TC  is Greater than 30 minutes

QPM = 0.66 cfs

	

	Determining the Volume (VM )

	· VM = (2,722.5 ft3/acres)*[(AI)*(0.9)+(AP+AU)*(CU) =

·  AI = 1.32 Acres

·  AP = 2.08 Acres

·  AU = 0 Acres s

·  CU = 0.1

·  VM = 3,800 ft3
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